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Questéo 1 —

i. £ = 5,9524.107*[0,7667y3 + (3,748 — x2)y + 0,0432]
&yy = —5,9524. 107%[0,5333y3 + (0,7968 — 0,3 x?)y + 0,144]
Yy = 5,9524.1074(—0,936 + 2,6y2)x

ii. 0, = 1,3736.108[0,606y3 + (3,509 — 0,91x2)y]

0,y = —1,3736.108(—0,3033y° + 0,3276y — 0,131)

oxy = 1,3736. 108(-=0,3276 + 0,91y?)x

iii. f8 = (0,0,0)

Iv. Para x = +lL:

S = (1,3736.108(0,606y° — 0,131y), 2,7472.108(—0,3276 + 0,91y?),0)
Parax = —I:

f5 = (1,3736.108(0,606y3 — 0,131y), —2,7472.108(—0,3276 + 0,91y2),0)

Paray = +c:
£ =(0,0,0)
Paray = —c:

5 =(0,-36.103,0) [KN/m?]

Questado 2 —
i. Estado Plano de Deformacao.

oy, = 0,,, =0
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iii. f8=(0,0,0)
iv. Paray = +c:
f*=(0,—qx,0)
Paray = —c:
f*=(000)

v. Parax = 0:

4 2
qc qy*  3qy
$=(00,—-———-—+—,
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Autovalores: diagonal da matriz acima
Autovetores: (1,0,0),(0,1,0) e (0,0,1).



